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o2sII+ 1,000,000& = 1CH 1,000
O2ds FHEHXOIMHEHZZE HIS 2L X
el 3,300
Oerarel Xt 2,000,000& = 1CH 2,000
odldl 500,000& * 2CH 1,000
(OFSPAT=REDN| 300,000& = 1CH 300
O2d8sS REHIHXNOIMEHAZE HIE 2L Xl
& 4,000
Oetatel &t 2,000,000& = 1CH 2,000
ol dl 500,000& * 2CH 1,000
oasJ+ 1,000,000& * 1CH 1,000
Oo=2ds ZXN0ISEHUOILIEZZY HIE #*¢
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OOt Xt 2,000,000& = 1CH 2,000
odldl 500,000& = 2CH 1,000
o2sII+ 1,000,000& = 1CH 1,000
028 FEH20INEZEZY HE 7Y A& 3,500
Oetatel &t 2,000,000& = 1CH 2,000
odldl 500,000& = 3CH 1,500
O=23ds SEOIMEZEZY HIE 2L XA 3,000
Oerarel Xt 2,000,000& = 1CH 2,000
odld 500,000& = 2CH 1,000
OZ2&8s =d0IIEZZYE HIE 7 XA 3,000
Oerat el it 2,000,000& = 1CH 2,000
ogldl 500,000& * 2CH 1,000
o=23ds 2EI=2Y HE 7Y NA 2,500
OO Xt 2,000,000& = 1CH 2,000
odldl 500,000& = 1CH 500
O2ds H2X0IIEHZYE HIE #¢ N 2,300
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o=2&ds Hi1ZzY HE #¢ N& 2,000
odldl 500,000 = 2CH 1,000
OdY&En 700,000& = 1CH 700
O& M| 300,000& * 1CH 300
O=2ds AXNAFR2E HIM 2 XA
500,000 = 2CH 1,000
O2&d= ME(M)Z2E HIE 2 X 2,500
odld 500,000& = 1CH 500
Oetote Xt 2,000,000& = 1CH 2,000
O=2ds SEUOIIIEEZY HId = XA
500,000& * 2CH 1,000
O=23ds &LOIIIEEZY Hld = XA
500,000& * 2CH 1,000
O=23ds XNFOIIIEZEZE Hld g XA
500,000& * 1CH 500
O=2ds JIO0tIIEEZY HIE #Y XA 1,700
odldl 500,000 = 1CH 500
oA 1,200,000& * 1CH 1,200
O=23ds S4IANOIIEZZYE HIO #¢ XK
500,000& = 2CH 1,000
O=23ds B¢ EZ Y HlU #¢& X
& 500,000& = 2CH 1,000
O=23ds B MEZ =Y HIES #¢ Xl
el 3,000
odldl 500,000 = 2CH 1,000
Oerarel Xt 2,000,000& = 1CH 2,000
O2ds 2EHHXOIEHZE HIE 2L Xl
& 1,500
odldl 500,000 = 1CH 500
ogsJl+ 1,000,000 = 1CH 1,000
O2dsS EYI0HXOIIIEZRAZE HI4 *¢ X
& 500,000& = 2CH 1,000
O2ds EHOREIR22X0IIEHRZE HI4 2
el A& 500,000& = 2CH 1,000
OSEHIHINMAESs IAFZY HId 7 X
500,000& * 2CH 1,000
OSHYHAMHESES 2EHIXNOIEHRZE HIM
ol X 500,000& * 2CH 1,000
OSHHINMAES FHedIEI21XO0ITIIEE 2
& Hd 7 XN 500,000& * 2CH 1,000
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2 I 3,000
odld 500,000& = 2CH 1,000
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osdis SREGMEAZY gEHYE 1Y
PNE-:! 300,000& « 1CH 300
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1,200,000& = 1CH 1,200
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# 1,000,000& * 1CH 1,000
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6,000& * 24H * 80 * 90% 10,368
OM2A=+= DX A 88,000& * 104 Xt 880
oOxsg ¥ =2 1,000,000& 1,000
O8I U=z 23,000& * 12& 276
02 =294l 9,246 9,741 N 495
oRWE2 8,670
OsJ|fH 1,900& = 3,000H 5,700
O H 2704 = 11,000AH 2,970
OHEHFZ AR =& HHI KXY 576
O&E XK= AL 3,200,000 = 300 * 6% 576
202 (4] 24,840 22,080 2,760
01 2LHOHI 24,840 22,080 2,760
©J| =& bl 20,000& = 23Y » 90 * 60% 24,840
203 R =&lY| 4,200 4,200 0
04 ENSIHRF=AY| 4,200 4,200 0
©J|EH (300! 0lat) 350,000& = 12& 4,200
N ZEEUES s TADJIeEHS 5,485,725 4,426,114 1,059,611
< 612,000
Al 4,873,725
=2 12m01Cte TAIHETZZ W& 955,905 1,003,814 AN 47,909
= 170,000
S¢S A20tS Y T2 203,045 0 203,045
401 AIEHIL 20| 203,045 0 203,045
01 A& bl 203,045 0 203,045
O E X 01 Yl 200,000,000 200,000
OMLA BY ABEL4E 3,045
=IE-PIPN
200,000,000& * 0.0011 = 2J4 D] & 440
OsJIold==2 70,000& » 72X 490
OdH=ssEs+2 426,000 * 3Z X| 1,278
Ozgszdsrz 279,000 « 3E X| 837
PAS AZ 3854 2N 313,986 0 313,986
401 Al HIL 201 313,986 0 313,986
01 Al& Bl 311,826 0 311,826
O & Al & H Y| 300,000,000 * 4.22% * 60% 7,596
O =2 &4l (L=150m, B=6m) 300,000,000 300,000
OMMA HEs AEx22 4,230




A= NYTDE SN AYTE AL
M NS dELEE /s ZADIEEH
S == 12m0Igte] SAIHEERZ HE (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZAHsEx==R 426,000& = 6E X 2,556
O2gsgs=r2 279,000& = 6E X 1,674
03 AIE 2 THHI 2,160 0 2,160
OSTZ2& AIZ=2C0HHl 300,000,000 * 0.72% 2,160
egs &1 & S2H4 50,540 82,396 A 31,856
< 50,000
Al 540
401 Al HIZ 201 8] 50,540 82,396 A 31,856
< 50,000
Al 540
01 A& HI 50,000 81,676 A 31,676
Olds &uw & TZ2IHEZA 50,000
O& 244l 50,000,000 50,000
< 50,000
03 A& S THHI 540 720 A 180
O&Es & &€ T4 AERU
50,000,000& = 1.08% 540
E2E 223101386 T2 4 30,930 0 30,930
401 A& HIZ 201 Y] 30,930 0 30,930
01 A& HI 30,930 0 30,930
O& A& AHI 150,000,000& * 4.62% 6,930
OE X0 & Hl 24,000,000& 24,000
&2 HAUEX 24 (H) 51,580 208,856 A 157,276
201 Let249] 300 876 A576
01 At 22l 300 300 0
oaxsz & XN 300,000& 300
401 Al HIZ 2018 51,280 207,980 A 156,700
01 A& HI 50,920 206,540 A 155,620
OJ E2EYEXN 2& EX0HH
50,000,000 50,000
oMLt BHE AS8x==+2 920
B2 220,000 220
OsJIold==2 70,000& » 10E X 700
03 Al S THHI 360 1,440 A 1,080
OJ HYEXN 24 20l
50,000,000& = 0.72% 360
BAASE CEASS BIHAL(A) 30,324 50,540 A20,216
401 A& HIZ 201 8] 30,324 50,540 N 20,216
01 A& HI 30,000 50,000 220,000
O E H S Akl 10,000,000& * 30H A& 30,000
03 Al 2 THHI 324 540 A216




M ox
40 5 4

I SN Y. B () NEAY - BAS il HDS2
OZAF& JIEF2HH] 30,000,000& * 1.08% 324
T2I|EHAI A SE XIS (4 8,282 A 8,650
201 et A H| 8,282 N6,610
01 AFR2t2l Yl 8,171 N6,499
ogst+2H| 8,171
OZAIHECRH MEEE ARE 1,746
-2 A2 Xl (A4) 21,0008 * 6& X ~ 62 756
—QIEINABE 510
-3 70,000& * 1CH = 33l 210
- oIEI EX 100,000& * 3&FXt 300
~EXOI2NE Y AEA SO
480,000 480
OXAEH 222 2,550
-MXEAMI EY 260,000& * 1JH * 6& 1,560
-TElE ElY 165,000& = 24 + 3& 990
OEXgaHZE &5 2 S)ls==g 3,875
-SIl0|& =2 70,000& * 5 X 350
—TEEYErZ 279,000& = 5Z X 1,395
“dH sz 426,000& * 52 X| 2,130
02 =294l 111 A 111
OEXOISHESRA U228 HIEH KA
2l 111
O&E K= AL 3,700,000& * 6%/2 111
A2s FEWg FTH S2I)4L 64,386 64,386
401 AIEHIL 20| 64,386 64,386
01 Al Bl 63,846 63,846
O & Al & H I 60,000,000& * 6.41% 3,846
O E X 0f & Yl 60,000,000& 60,000
03 Al& 201l 540 540
O A& =20 60,000,000& * 0.9% 540
S OIHEGHIIE OHIIE F8 T2HA A 120,864 120,864
= 120,000
Al 864
401 Al HIL 200 120,864 120,864
= 120,000
Al 864
01 A& HI 120,000 120,000
OUWE S 0lHED OIIE =¥ T =24
120,000,000 120,000
< 120,000
03 A& 20HH| 864 864
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M ox
40 5 4

12n012te] TAINHEE HA SeE)
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
OEXOISHESHRA U228 HIEH A2
2l 111
O&E K= AL 3,700,000& * 6%/2 111
202 04| 2,040 0 2,040
02 MY 2,040 0 2,040
OEXEEHA 2ANE EHAHYI
170,000& * 1¥4 = 12& 2,040
22| 4,529,820 3,422,300 1,107,520
& 442,000
2EH ¥ SAUEE(4) 1,089,601 1,705,348 A615,747
201 ety 181,990 199,901 A17,911
01 AtR 22| 24,292 37,816 N 13,524
oxzHd dHE A28 3,452
OEZHIOEHI 2 3,452
-2=2 Z Xl (A1) 27,500 » 58 » 6& 825
-== Z Xl (A0) 66,000& » 12 » 6& 396
-0l = 48,4003 * 24 x 68 581
-E2H 23 55,000& = 501 ~ 6& 1,650
Ox2H &M= HMA L tisx==2 HH Xz 10,450
O=4 550,000& = 1CH = 10 5,500
ogx 495,000& = 100 = 10 4,950
(OFE P 3= 2 EXANEZ 3,000,000& 3,000
o0s82s otXtE MIIotA 2
272,500 * 12& 3,270
OYA-AtHEHYE MIIHM2ALIUEH =2
272,500 * 12& 3,270
O XNotXT =i EHl HI|&E A
850,000& * 13/ 850
02 352494l 157,698 162,085 N4, 387
Odtatez M2 3322 7,080
(OFSPIETa=] 65,0008 * 400 x 12€ 3,120
OdZET 3822 60,0008 ~ 500 « 128 3,600
OS2 XNAMHAR= 30,000& * 1J0HA « 128 360
ozsdE XgsHel HE & 2=A4 46,560
O3 1,000,000& = 12& 12,000
O4dt=& 22 3,600& * B00E * 12& 34,560
Ol st 24 eyl 1,368
OwrsUt 1,368 * 204 =* 50 1,368
ox=zH Z&EHE WFHI A=l 1,182
ORFU(HLSR)
1,969& = 620 =+ 100 = 104 1,182
OZ= 84l &4l =2lbl 1,000
OuWHII, HEIl S 500,000& * 2& 1,000




AR MY SN AYRH ALY
M. XY ZEYNZE /st TADJERY
o 2 ol CER-ED
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
ORXGSHR= JIHEH KX 6,684
OssU(ZER) 1,820& = 4004/ =* 33 2,184
Og &Il =2yl 1,000,000& = 14 1,000
Obti+=8IZ 22|l 3,500,000& * 14 3,500
ORXStXE =Hi&E KX HI 5,000
O=x=&ut 500,000& * 504 A 2,500
Ol & Bt 500,000& * 5JH A& 2,500
O H-AAH 2HH S22 88,824
(OFrsPIETE=: 6,500,000& * 12& 78,000
Oosdea 82,000& * 110 = 12& 10,824
206 M = Hl 40,061 66,788 N26,727
01 M= bl 40,061 66,788 N26,727
oXNdgEzE 39,030
Oxgxa3a 231,000 * 604 13,860
OXZorAZ2 14,000& * 1,200% 16,800
OAHE 5,000& = 300% 1,500
(@)= 23,000& * 90m 2,070
=M (M A 16,000& = 300m 4,800
oxzsE 4 &Y d2elE XM 1,031
O3AteHY = 60,000& * 1JH 60
O3ANE A 25,000& * 1204 300
OZAE 2td 13,200& * 2404 317
(@FSPARNE=R=—] 15,000& * 6 90
OREgdNs 17,6003 * 1504 264
305 Ha=2S 2,000 5,000 A 3,000
01 tHAa =S 2,000 5,000 A 3,000
O 2ANEES WSz oIsh ol uif &
500,000& =* 43| 2,000
307 QI2t0| M 54,560 86,640 A 32,080
05 A2t E 2 54,560 86,640 N 32,080
OJlst AIR A SO HAEY)AE
2,000,000 2,000
OXote EAH 380,000& * 1JHA « 12€8 4,560
ozd=2 xe=Hel |FAE4H| 48,000
o0 ¥ 18,000,000& 18,000
OHEBANEE 2,500,000& = 12& 30,000
401 Al HI L 20| 810,990 1,347,019 A 536,029
01 Al& Bl 805,833 1,339,175 A\ 533,342
Ootat=z dZT KX 22l
1,200,000& = 12& 14,400
OEZRXNE LAY A AIA HH|
333,300,000 * 3.84% 12,799




A= NYTDE No:agas A8D
M NS dELEE /s ZADIEEH
ool £2 B SEREED)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
0L2 & TZANEE FANEFAY 455,000
O0AZE AIIE+ 153,000, 000& 153,000
OXte &M 48,000,000 48,000
OE=ZAA 54,000,000 54,000
OFIF=E DR 200,000,000 200,000
OFR S2H (M= S) FHIAL(L=61.4kn
33l) 95,000,000 95,000
Osg FFAN2H =2HX S AH(B0H )
10,800, 000& 10,800
OMAEHYE F=H SZAMI ZHISAH(GAZRL
A=450m S) 150,000, 000& 150,000
O5E+2(FHSY) 426,000& = 9E X 3,834
OMAEEZ CCTV & 2B RX2S
71,4283 + 2804 = 123 24,000
O82XotiE =HLHl wH
40,000,000& = 14! 40,000
03 Al 2 0HHI 5,157 7,844 A2,687
OAIE S THHI 40,000,000& = 1.08% 432
OEZRINES AL
750,000,000& = 0.63% 4,725
g Y AEE SRl (4) 130,630 941,490 A 810,860
401 A& HIZ 201 I 130,630 941,490 A 810,860
01 A& HI 130,000 935,630 A 805,630
onz A ANLdESRA E= 100,000,000 100,000
OANEZE MH % FXNEF 30,000
OHY, Xatx= A=H 30,000,000& 30,000
03 A& =TI 630 5,860 A5,230
OuERIEx AL
100,000,000& * 0.63% 630
FOI=@ ALY (&) 54,482 480,211 N425,729
401 A& HIZ 201 8] 54,482 480,211 AN425,729
01 A& HI 53,942 477,006 A 423,064
OFU=JAAY HAIE A
50,000,000& = 6.18% 3,090
O2ss 3BEI FH SHELX E2EES
AH(L=80m, B=4.0m) 50,000,000 50,000
OZH=E =8 426,000& = 22 X 852
03 Al 2 THHI 540 3,205 A 2,665
OFQAXAAY ALY
50,000,000& = 1.08% 540
ZIZEARE U HDAYZA 435,444 0 435,444
401 AIEHI L 201 435,444 0 435,444
01 A& HI 431,149 0 431,149




a2 4gTE SN NYTE ALD
M X BEHUMS I8 TADIBEY
ool T2 B2 EERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
OFDAHESAL HAIEAHEY
1,193,000,000& * 2.75% * 0.3 9,843
O 24l 420,000,000 420,000
Ox=EME I TGE 2 & =2 1,306
OLFEI 248
420,000,000& = 0.0011 * 24| 2 924
OSI0ldE =8 70,000& = 22X 140
SE+=E 121,000& * 22 Xl 242
03 Al =20l 4,295 0 4,295
OAIE =TI 1,193,000,000& * 0.36% 4,295
KIS AR (&) 384,751 255,829 128,922
= 382,000
Al 2,751
401 Al B2 28I 384,751 255,829 128,922
< 382,000
Al 2,751
01 A& Bl 382,000 254,000 128,000
OYLSE 20 NEAYR IH UL HUT 47
90,000,000& 90,000
< 90,000
O3&ds 2Xe & &2 TIM=)|
20,000,000& 20,000
< 20,000
OEY1s 248 Ot =2 ZE A
30,000,000& 30,000
< 30,000
O&ES A 405K S2ZEFZ A
20,000,000& 20,000
< 20,000
OUAEOIE MUZ TN RIS A
10,000, 000& 10,000
< 10,000
OttE = 14-5 W WM S At 15,000,000 15,000
< 15,000
OYAHE F(M4EF ES 185) E= &
30,000,000& 30,000
< 30,000
O=Ys T2 IMRIIAMY 20,000,000& 20,000
= 20,000
OYDMNZ 25-14 - 31-7 B2 FH L =
EAt 18,000,000 18,000
< 18,000
OEs 92-111 - 9281 X2t &2 IMRI|=S
A 10,000, 000& 10,000
< 10,000
OEY=s =2 T2EESA 27,000,000& 27,000
< 27,000
Osgs 2= SHEHE=3AM 10,000,000& 10,000




M ox
40 5 4

e
nx
]

SN -FH-SA(BA) - HRAY - B il HlnE2
< 10,000
OMHES 14-5 S2EEIA 12,000,000 12,000
< 12,000
O¥Ys 31-2 & EXEX 20,000, 000& 20,000
= 20,000
oOdds 6, 391 =2 4 30,000,000& 30,000
30,000
Odds 7, 300 s2 M4 20,000, 000& 20,000
< 20,000
03 Al =2 0HHI 2,751 1,829 922
OXGIHEAY =& AL 20
382,000,000& * 0.72% 2,751
A2 XYGIRI| AL (&) 96,684 39,422 57,262
401 AIEHIZ 28I 96,684 39,422 57,262
01 A& Bl 96,000 39,000 57,000
OEYs ¢ HHYZ LEDEZHXE ZX3AM
40,000,000 40,000
S22t 6758 X F=H T2 Z I IA
15,000, 000& 15,000
Od=s b148 X FH B2 WHSA
3,000,000 3,000
O=d&S 162-6981 Xl =8 EE =22 WHSA
3,000,000 3,000
O=&d& 166-1981 K =8 EE =22 WM SA
3,000,000& 3,000
OZ2s 163-1481 X = ot=% Ex3A
12,000, 000& 12,000
0OZes FEAHY & T2AML2I| 3 AHL=200m
B=3~6m) 20,000,000 * 14 20,000
03 Al 20 HI 684 422 262
OA7E XN JRIIAY =& AIER0UHI
76,000,000& = 0.90% 684
Z23H L |FANES(H) 529,802 0 529,802
201 et 14,939 0 14,939
01 At 22l 10,677 0 10,677
OLZZH #HE A3 3,452
OEZHZEHI 23 3,452
-E2H ZX(A1) 27,5003 * 58 ~ 63 825
-E2H&XI(A0) 66,000& * 15 ~ 6& 396
-0l & 48,400& * 204 * 6 581
-E2HY3 55,000& = 501 » 63 1,650
Ok=z¥ &M= MA € == FHl X 5,225
O= 40| 550,000& = 104 » 5 2,750
og Xt 495,000& = 104 » 5 2,475




4
o
C
x
0z
o
4
o
v
x
=]

c
;: DL E AS T AIJIBrEH
= &l (B9 ®R)
SN BAGIA) - HRAY - BES 0l &t o il HImEET
OATRE &2 EXNMES 2,000,000 2,000
02 2324l 4,262 0 4,262
Ootatez MZE B2E2R= 2,580
O &#Je3 65,0003 * 1A * 128 780
O &8z 3L
60,000 * 204 * 128 1,440
O 2AMHIAR= 30,0008 » 10HA » 128 360
OE2Y M=HHE MFI 24
1,969& = 64 = 100 » 104 1,182
OT=2FHl &dl =2t 500
OQul=2I, HEIl & 500,000& = 138 500
206 T 2 Hl 26,728 0 26,728
01 M Z 4l 26,728 0 26,728
OXNIET=ZzES+E UM 26,020
Oxgdg3IXNS 231,000 * 4004 9,240
OZotAa= 14,000& » 800 11,200
OAHE 5,000& » 200 1,000
OZcH 23,000& = 60m’ 1,380
OSM(MA)2 45 16,000& * 200m 3,200
okz=+ YA &l E M 708
O3S At E X & 60,000& * 1K 60
O3A8 aA 25,000& * 8K 200
O3 AME cthtE 13,200& * 1674 212
OFSPAFIE== 15,0008 * 44 60
OfIgdids 17,600& = 104 176
305 HHal= s 2,000 0 2,000
01 Hia=s 2,000 0 2,000
OS2 ANAEE ME2=Z QS Toi HH &
500,000& =« 43| 2,000
307 glz2tol & 13,680 0 13,680
05 RIZHRIE 3 13,680 0 13,680
OXotE &t 380,000& = 32 » 123 13,680
401 Al HIZ 2018 472,455 0 472,455
01 A& HI 469,190 0 469, 190
Ootatez Mg |22l 300,0008 » 12& 3,600
OEE2RAESALY A A A
122,380,000& * 4.62% 5,654
02 & TZANEE FANEFAY 370,000
O0AZE 2B+ 102,000, 000 102,000
Oxed =M 32,000,000& 32,000
OEZZAA 36,000,000 36,000
OFIF=E PN 200,000, 000& 200,000




M ox
40 5 4

- _ _ RE]
SA-EHH B (3H) - NEAY - BAS %Eﬁ HR=2
OFR T2H(HM=2Y S) Ad|AFY (L=45.8kn
33) 80,000,000& 80,000
OSe A2 T2EX HEZ2AH41HA)
7,380,000& 7,380
O=EHs4+= 426,000& * 6E X 2,556
03 Al 20| 3,265 3,265
OAlI&E S0t 10,000,000& * 1.08% 108
OEZ2RXNE4L AIDL0H]
500,980,000 * 0.63% 3,157
we Y AIEE SASCIAE(H) 724,690 724,690
401 A& HI L 204 HI 724,690 724,690
01 Al&H| 720,280 720,280
OP)TAEW WABLEZ AAAHH
600,000,000& * 3.38% 20,280
0AE=s F)EzE1 H2Z A
600,000,000& 600,000
ony L ANESEX E4Z2A 100,000,000 100,000
03 AlE 21| 4,410 4,410
ogTBs P)ZZ 1 B2 Z2AF AIE 20|
600,000,000 * 0.63% 3,780
ONEFFANEL A& Hl
100,000,000& = 0.63% 630
Ol=2A AL (H) 887,404 887,404
401 AlEHIZL 2 0HY| 887,404 887,404
01 Al&H| 881,891 881,891
OF0I =AY A A& A
75,000,000& = 5.78% 4,335
OF0 =AY =& 800,000,000& 800,000
OAE0tE HAUR S LA 2 AHL=320m, B=1-3.5
m) 75,000,000 75,000
OZHEHE =3 426,000& * 62 X 2,556
03 Al&E 201 Y| 5,513 5,513
OFoU=JAAIY AL 20
875,000,000 * 0.63% 5,513
SIHEEALS (H) 60,216 60,216
= 60,000
Al 216
401 Al HI L 204 HI 60,216 60,216
= 60,000
Al 216
01 Al&H| 60,000 60,000
ougtls 88 F=xt B2=2A 20,000,000 20,000
= 20,000




AR HgnE SN AR ALY
M X BEHUMS I8 TADIBEY
ool o2 pe (St &)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OSZs 0D B2 ISEUIZ2AH(EHRSES L
=36m) 40,000,000& = 14l 40,000
& 40,000
03 AlE 201 Y| 216 0 216
OUWE1Is 88 FXE EXZAF AIEE2UHI
20,000,000& = 1.08% 216
ARE XY RI| ALY (H) 136,116 0 136,116
401 AlEHIZ 2 0HY| 136,116 0 136,116
01 A& H| 135,000 0 135,000
OWE1s FOIMEH &8 =&HZ2A
15,000,000& 15,000
oMY 28 BT U FAHH FLBA
70,000,000 70,000
O8%s slottE = AHA %=
50,000,000 50,000
03 Al&E 201 Y| 1,116 0 1,116
OAHRE XY JFRIIAY A28
155,000,000& = 0.72% 1,116
st JI2&d 2 =X32 &5 2,097,635 2,203,242 A 105,607
= 105,000
Al 1,992,635
Z HoE X222 1,492,914 1,463,293 29,621
= 105,000
II280s MA L (A 20,180 241,841 A221,661
401 Al HI L £ 0HHI 20,180 241,841 A221,661
01 Al& H| 20,000 240,004 A 220,004
OJlz=2ots Ald & DA
1,000,000 = 2000 & 20,000
03 AlE 2 HH] 180 1,837 A 1,657
OJlz=2Eots Al & A AIESE 0]
20,000,000 = 0.90% 180
2 - BEotE 2| (ah) 468,234 1,221,452 AN753,218
201 et 306, 120 835,367 ANB29,247
02 B232%H| 306, 120 808,200 A 502,080
OJlz=28ots &3 304,200
ozs 7,8008 * 2,000 * 12&€ 187,200
OoBos 6,500& * 1,500 * 12& 117,000
OJt2s s BH)| SAR3
4,000 * 400HA + 128 1,920
206 M = Hl 11,034 31,565 A 20,531
01 X2 H| 11,034 31,565 N 20,531
OJitz=Eots E4+2 M 11,034
OleNea s 33,400 = 404 1,336




AR MY SN AYRH ALY
Hu: HNE Jl2EY U SN2 HE
e JI2 . BotE X2 (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
ONE ANty o+& D] 46,200 * 404 1,848
OBots EHJ| 72,700& = 2004 1,454
Otz sdgs HE)| 1,828,000& = 2J4 3,656
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